4 TOURATECH

TOURING RALLYE RACING TECHNOLOGY

09-040-0382-1  yeadight Guard KTh Les Adventure

Contains:

1 x Headlight guard Polycarbonate
1 x Holding bracket right

1 x Holding bracket left

1 x Spacer 32mm

1 x Screw dome head M4 X 12

9 x Washer large for M4 | nS'I'G | |O'|'|On '
4 x Screw dome head M4 X 16
2 x Screw hex Mé x 35 Install first the left and right side holding
2 x Washer large for M6 brackets on the headlight cover using two
2 xSpacer 16,6.2,16 dome head screws M4x16, washers M4
and nylock nuts M4 on each side.
'| The deep dip on the headlight cover is
- facing up (A) and the edge on the holding
brackets (B) are facing donw.
Photos T + 2

Attach the black 32mm spacer in the hole
middle of the headlight guard (C) with
dome head screw M4x12 and washer.

Tighten all screws but be careful not to
overtighten and break the headlight cover.

Remove the screws that are on the sides of
the headlight (D).

Set the complete headlight cover unit on
the lights, set spacers between fairing and
the holding brackets and attach with the
two hex screws and washers.

Make sure the middle spacer (C) is resting
correctly on the fairing.

Photo 2.

These instructions are at our present level of knowledge. Legal requirements do not exist. Technical issues subject to change.



